
Improvement Sequence of Traveling Cost for R1 Problem Instance

Plan: 1 Plan: 2 Plan: 3
Employed Bee: 50 Employed Bee: 200 Employed Bee: 600
Onlooker Bee: 10 Onlooker Bee: 60 Onlooker Bee: 200
Iterations: 75 Iterations: 400 Iterations: 1000

Iteration Number Traveling cost Iteration Number Traveling cost Iteration Number Traveling cost
0 776.623 0 776.623 0 776.623
1 719.231 1 719.231 1 719.231
2 712.826 2 712.826 2 712.826
4 672.846 4 672.846 4 672.846
38 641.388 38 641.388 38 641.388

86 635.056 86 635.056
103 634.750 399 611.831
110 634.266 518 609.399
196 630.439 644 606.350
241 616.174 758 599.059
278 612.499 824 586.161
326 596.626 900 585.201
361 594.390 972 573.365
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